

REVIEW

1

Compare the fractions.

Choose from =, < or >

$\frac{1}{2} \dots\dots\dots \frac{1}{3}$

$\frac{1}{3} \dots\dots\dots \frac{1}{4}$

$\frac{4}{5} \dots\dots\dots \frac{9}{10}$

$\frac{2}{8} \dots\dots\dots \frac{4}{12}$

$\frac{4}{8} \dots\dots\dots \frac{1}{2}$

$\frac{2}{6} \dots\dots\dots \frac{1}{3}$

$\frac{1}{6} \dots\dots\dots \frac{2}{9}$

$\frac{1}{2} \dots\dots\dots \frac{4}{6}$

Divide

$1 : 2 = \dots\dots\dots$

$1 : 3 = \dots\dots\dots$

$2 : 5 = \dots\dots\dots$

$3 : 6 = \dots\dots\dots$

Reduce

$\frac{5}{10} = \dots\dots\dots$

$\frac{9}{12} = \dots\dots\dots$

$\frac{6}{18} = \dots\dots\dots$

$\frac{4}{20} = \dots\dots\dots$

Take whole ones out

$\frac{9}{3} = \dots\dots\dots$

$\frac{4}{3} = \dots\dots\dots$

$\frac{21}{5} = \dots\dots\dots$

$\frac{13}{10} = \dots\dots\dots$

Change into fractions without wholes.

$1\frac{2}{3} = \dots\dots\dots$

$2\frac{3}{4} = \dots\dots\dots$

$3\frac{1}{2} = \dots\dots\dots$

$4\frac{2}{5} = \dots\dots\dots$

$\frac{3}{9} + \frac{8}{9} = \dots\dots\dots$

$\frac{1}{2} + \frac{2}{4} = \dots\dots\dots$

$\frac{2}{6} + 1\frac{5}{6} = \dots\dots\dots$

$3\frac{4}{5} + \frac{2}{10} = \dots\dots\dots$

$1 - \frac{3}{4} = \dots\dots\dots$

$3 - \frac{2}{7} = \dots\dots\dots$

$\frac{8}{10} - \frac{3}{5} = \dots\dots\dots$

$\frac{1}{3} - \frac{2}{9} = \dots\dots\dots$

$4\frac{2}{5} - \frac{3}{5} = \dots\dots\dots$

$3\frac{1}{6} - \frac{4}{6} = \dots\dots\dots$

$6\frac{1}{4} + 2\frac{1}{4} = \dots\dots\dots$

$5\frac{3}{4} + 5\frac{3}{4} = \dots\dots\dots$

2

$\frac{1}{3} + \frac{1}{6} = \dots\dots\dots$

$\frac{1}{5} + \frac{1}{10} = \dots\dots\dots$

$\frac{1}{6} + \frac{2}{3} = \dots\dots\dots$

$\frac{2}{3} + \frac{6}{9} = \dots\dots\dots$

$\frac{1}{2} + \frac{1}{3} = \dots\dots\dots$

$\frac{1}{2} + \frac{4}{5} = \dots\dots\dots$

$\frac{3}{4} + \frac{1}{3} = \dots\dots\dots$

$\frac{2}{3} + \frac{3}{4} = \dots\dots\dots$

$\frac{2}{6} + \frac{2}{3} = \dots\dots\dots$

$\frac{1}{6} + \frac{1}{4} = \dots\dots\dots$

$\frac{1}{8} + \frac{1}{12} = \dots\dots\dots$

$\frac{2}{12} + \frac{2}{6} = \dots\dots\dots$

$2\frac{1}{3} + \frac{1}{6} = \dots\dots\dots$

$1\frac{1}{2} + \frac{1}{3} = \dots\dots\dots$

$\frac{2}{3} + 2\frac{5}{6} = \dots\dots\dots$

$\frac{4}{6} + 1\frac{2}{3} = \dots\dots\dots$

$5\frac{1}{2} + 3\frac{1}{3} = \dots\dots\dots$

$3\frac{6}{9} + 2\frac{1}{3} = \dots\dots\dots$

3

$\frac{3}{4} - \frac{1}{8} = \dots\dots\dots$

$\frac{1}{2} - \frac{3}{8} = \dots\dots\dots$

$\frac{2}{3} - \frac{1}{4} = \dots\dots\dots$

$\frac{4}{5} - \frac{1}{10} = \dots\dots\dots$

$\frac{5}{9} - \frac{1}{18} = \dots\dots\dots$

$\frac{5}{6} - \frac{1}{9} = \dots\dots\dots$

$\frac{1}{4} - \frac{1}{5} = \dots\dots\dots$

$\frac{2}{4} - \frac{1}{2} = \dots\dots\dots$

$\frac{1}{7} - \frac{1}{8} = \dots\dots\dots$

$\frac{2}{3} - \frac{1}{8} = \dots\dots\dots$

$\frac{6}{9} - \frac{1}{3} = \dots\dots\dots$

$\frac{4}{20} - \frac{2}{10} = \dots\dots\dots$

$1\frac{2}{3} - \frac{1}{6} = \dots\dots\dots$

$2\frac{1}{2} - \frac{3}{4} = \dots\dots\dots$

$2\frac{1}{3} - \frac{4}{6} = \dots\dots\dots$

$3\frac{3}{9} - \frac{1}{6} = \dots\dots\dots$

$2 - 1\frac{1}{3} = \dots\dots\dots$

$3 - 2\frac{1}{5} = \dots\dots\dots$